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General Knowledge / 9171 11 B
Ql. The plants tolerant to the desert conditions dr( T srersorcher TR o Hvog Wy it @
called__ . R ST B
a) Hydrophytes b) Hylophytes a) urenfige b) wavrgEiRas
c) Polyphytes d) Xerophytes c) agfae d) 7sfge
Q2. Which of the following is NOT an east fIOWinp 52 freferaa & @ d qd @ o gz arsft 987 75
river? ’ ‘ a0
- a) Subamarekha b) Palar a) gavivear b) Trere
c) Periyar d) Brahmani c) aReme d) arzof
Qs. With which of the following states Rajasthan g3, IroreerE Frefafad § @ g w0 & @y g
does NOT share its boundary? A= GrEn 98 ey 27
| a) Maharashtra b) Uttar Pradesh a) AERTE b) 3= wew
‘ ¢) Gujarat d) Haryana ¢) ToRTd d) sfaron
|
‘ Q4. What was the theme of the world Tuberculosis U4 fava qufes faw 2020 &1 fawgawg @7 21?
. Day, 20207
| a) Go ahead b) Don’t look back a) T 3ES b) Sre g% %
; ¢) Get started d) It’s time c) e wIcs d) 3e9 =9
Q5. Sake, a Japanese alcoholic beverage, is made us. qP, TP SN 75 U3, fBiag q
p g
from fermented ) T ST 2 |
! a) Soyabean b) Oatmeal a) A= b) =feran
! ¢) Rice d) Wheat c) =g d) 1§
| | ,
| Q6. In accordance with the Plastic Waste 6. IREP HoRT Te9 99 2016 & ITHAR ATRETEH
§ Management Rules 2016 , what is the minimum | && 7 3 GAqH ATHT FISTE T 7
i permissible thickness of plastic carry bags? |
a) 25 Microns b) 30 Microns a) 25 HIZHIA b) 30 #MSHH
<) 20 Microns d) 50 Microns ;) 20 HISHIA d) 50 #ATSHIT
Q7.  When fats and oils are oxidised, their smell and | g7 ST a1 IR TSl BT ARSI ST & A Iy
taste changes. This phemonenon is termed e IR WE I TG ¥ | $9 "HEAT P
as____ . BT ST & |
a) Ductility b) Erosion a) ey b) smree
¢) Rancidity d) Corrosion C) Eearg d) gy
Q8.  Which of the following is a metallic mineral? us. Frfeafaa & @ sr—wr afgs @frer 22
a) Sandstone b) Bauxite a) HeweTT b) diwrge
¢) Mica d) Potash c) HIgHT d) drerer
Qo. Bihu is the most important festival in the state 9. fag, NS BT Fa99 EE RiER |
f .
:)mur b) Assam a) #forge b) srrH
¢) Mizoram d) Nagaland ¢) fasiy d).rrare
first ever gold coins in India were issued by [ w10  YRT ¥ Uy w1 @ Ryas _
a) Kushana b) Chola a) &Eur b) =rer

¢y Gupta d) Maurya c) T« d) i




| QI11,

Q12.

Q13.

Q14.

Q15.

Q1l6.

Q17.

Q18.

Q19.

e —————

The_ isaimed at increasing the forest
cover.

a) National Mission for a Green India

b) Green Revolution

¢) Green Skill Development Programme

d) National Mission on Sustainable

Habitat

The World Toilet Day is celebrated on
every year.

a) 19th November
¢) 7th February

b) 28th June
d) 30th September

An offspring of a female tiger and a male lion
is called
a) Jaglion
c) Liger

b) Leapon
d) Tigon

Article 59 of the Indian Constitution deals

with the:

a) Qualifications for election as the President

b) Procedure for the impeachement of the
President

c) Conditions of the President’s office

d) Term of office of the President

The amount of other goods and services that
must be sacrificed to obtain more of any one
good is called the cost of the good.
a) Secondary b) Opportunity

c) Ignorable d) Persuasive

The origin of the cuisine Daal - Baati -
Churma can be traced to the state of:

a) Rajasthan b) Assam
c) Bihar d) Andhra Pradesh

Which among the following coasts is situated
parallel to the Bay of Bengal branch of the
south-west monsoon?

a) South East Bangladesh
¢) Myanmar

b) Odisha
d) Tamil Nadu

Which among the following was intimately ]
related to the issue of depletion of ozone layer?
a) Rio Conference

b) Montreal Protocol

c) Toronto World Conference

d) Stockholm Conference

In March 2020, which of the following' states
launched a mass hand washing campaign

named ‘break the chain’?
a) Kerala b) Karnataka

¢) Odisha d) Punjab

e

Y12.

U13.

14,

15.

U1e.

H17.

"18.

19,

———

7 Ieey g4 Y

———————

a) Tty e gfEar faer
b) eRa wifa

c) eRa ®rerer AT HTdHH
d) g wera gataRor fferE

frva sivarer fegw ev @rer__ @[ HATII
ST B
a) 19 gav b) 28 o
C) 7 YA d) 30 fraae
U HIST 919 3R U 7 IR & FATT &
HBT 7T 2 |
a) ST b} srafrar
Cc) SN d) ===

ARG AfAuT &1 3rgess 59 fbad Fafrg 27

a) AUy & w9 A gArg B oy grvger
b) Jrgufey & wET¥anT # oHfear

c) Ul wraterd @ It
d) Ul @ wrafery @1 BrEfEE

el 7o avg B ¥ T IR B Faro o

J

C) AT B Ay d) s

ST—TE—RAT T B IARY e wow @ g2

a) TSRy .

b) 3w
c) fer

d) emmeeT

ﬁﬂﬁfﬁaﬁﬁfﬁa—mﬁeaﬁw-qﬁaw#mﬁ
B NS B @S WA B wEEEY Rerd 272

a) &féror qd givendyr
c) ®MHR

b) anfEwr
d) aferrg

fr=fafRaa & @ 19 aioig avg &7 &xor
(Rfdga~or) & & I wafrg «1?

a) Ray a=yer

b) #Hifeaer wermta

¢) @Rer fQvg I

d) wfpem g /

aref 2020 ¥, PR & & fw w9 7 HE T
AT AW A T AE grer 6y @ AT A f

forar? ;
a) B b) @t \
c) anfeem d) owme




— = AR < ® 9g B FI9 B foru grerEr
, . - - g0 NG @ g @ g8 ‘
Q20. \\(h}cb.of the follomng statements regar.dmg sier 3§ Preifafad o @ B 9T B e 27
eligibility for the selection to the post of
i ia is LCT? . -
President of India is INQORRF | a) T S T D AT D A g B
a) (S)he should be qualified for the election 4. N ’
. feru =i B =nfe |
member of the Lok Sabha v NP
b) a8 ud Uuue 8 AR
b) (S)he should be a Graduate o NP
| S ¢) 8 YRA BT ARG B AR |
¢) (S)he should be a citizen of India : o A oy g A
d) (S)he must have completed the age of d) s 35 T emg T ‘
35 years.
Q21. Which of the following is the chemical symbol | %21 TR i ¥ P ST B R v
of Einsteinium? i &7 .
a) En b) Ei a) En b) Ei
c) Et d) Es c) Et d) Es
i . ,
‘( Q22 Which among the following has the highest w22, fAfoRad & @ frwent wrH Ao 07 e
1 density at the room temperature? AP Tfea gar 8?
3 a) Diesel b) Water a) SIod b) grir
<) Mustard oil d) Coconut oil c) wxdEl @ de d) iRas @1 d=
i Q23.  The Directive Principles of State Policy figurein | ¥23.  ¥RA & WM & wm___ % won 5 Ay
the Part of the Constitution of India. Frere o fafea 2
3 a) \:Ill b) IV a) VIII b) IV
A\ d) 111 Vv d) 11
| Q24. The word “Utkala in the National Anthem H24. R B IMg T ¥ Separ ST T
{ . ) e oy B N
‘ of India refers to the modern state of BT ThfT dear 22
2) Odisha b) Rajasthan a) anfewn b) <roreems
1\ ¢) Andhra Pradesh d) Uttarakhand C) 3y yer d) SeRES
| Q25. The word ‘laterite’ as used in the ‘laterite soil’ 925 MRTZE ey SR A
E has been derived from the Latin word that aref & = F T E AeRIgE BT
| means:
; a) Rock b) Brick a) == ‘
; c) Calcium d) Silica ) Bfdergy b) =
d) RifSrep
Arithmetic / siaparforg
Q26. A and B together can finish a work in 12 days. Hee L — i
A alone can do the work in 20 days. If everyday HBA &) A ‘m)onq?_;;ﬁm 1 12 ey g —
B only works half day then A and B together bl & | yfa AR qug:ﬂ 20 fasy W 7
will take how much time to complete the work? g‘ﬁi\ MR B forsree - wk*migﬂqﬁ;\;m Y
O] T
a) 11 days b) 15 days a) 11 fag
c) 20 days d) 10 days €) 20 fas b) 15 fagy
i d) 10 f%‘q
Q27. If all the sides of a parallelogram are equal and | 427 _me @(ﬁ HHIY o ot g
one angle is a right angle, then what is that :2; K’f; DIV T e ;7:? UMY gy &
area called? 8 83 ) oy
re b) rectangle a) it
a) square d) rhombus C) T gt b)
¢) trapezium us e 3Ry
i D ey
Q28.  If the selling price of 16 articles is equal to the | w28 * 1;3 T @7 fargsy 9 5
e of 20 articles, we will get: K B A B gy o TR o
cost p1! At b) 20% Profy a) 25% s T &hyy Bl
a) 25% Pro d) 4% Loss €) 20% 4y oo b) 209,
c) 20% LOSS i d) 494 o My |

L ———— e




Q30.

o
2
)

Q33.

Q34.

Q35.

Q36.

Q37.

Q38.

+ /€

50,
One number is greater than 50 by 20% of
that number is
a)a70 b) 50

a2 work in 8 hours
k in 12 hours,
ake to finish the

x and y can together finish
If x alone can finish the wor
then how many hours will y t
work alone ?

a) 24 hours

¢) 12 hours

b) 16 hours
d) 8 hours

A wire is bent to form a square of area 169cm?.
If the same wire is bent to form a circle, then
what is its area (in cm?)? (to the nearest whole
number)
a) 215
¢) 532

b) 227
d) 531

The lateral surface area of a cone is:
a)Ttr Jri+ K b)) Jr+h
o) nr’ ritp d) none of these

Four runners started running simultaneously
from a point on a circular track. They took 400
seconds, 600 seconds, 720 seconds and 900
seconds to complete one round. After how
much time did they meet at the starting point
for the first time since the race started?
a) 4200 seconds b) 2400 seconds
¢) 3600 seconds d) 1800 seconds

The average of the first five natural numbers is
3. Find a new average after adding 6.

a) 3.5 b) 5.5
c)3.6 d) 4
What is the simple fraction of 5.6:
56 17
) 51
c) —g— d) 97‘
Convert 4% to fraction?
1
2 2
<) 35 4 55
8% of 36 is 72% of which number?
a)3 b) 4
€)5 d) 6

A sum of money becomes 7 times in 20 years.
How long will it take to become 13 times?
a) 25 years b) 40 years
¢) 30 years d) 50 years

./

z'

U29. U e 50 A 50 BT 20% ey &, A Hedl
a) 70 b) 50
c) 60 d) 40
930 X 3N yﬁm-rm Ueh M BT 8 °c H GRT B Fhd
fitaf?rx.wﬁ“c?fu%ﬁmmwmwmgaﬁ
fhe y Y arehel I IXT DY ¥ fopan = e’
a) 24 ©e b) 16 ®¢
c) 12 ©e d) 8 =
U3t Qzﬁﬁwaﬁmg“@rﬁ‘r’a?rmaﬂqzﬁ?ﬁfma%
forq wireT T ¥ | A S A BT TH g G D
mﬁamé,mmm(wzﬁ)w??
(Frepea qof %)
a) 215 b) 227
c) 532 d) 531
¥32. U q Bl UINd EFABA B
a)mr J/r'+h b)n /r+h
c)nr® /it +ht d) 7% @ w18 T
W33, TP JATPR 2P R U g § IR g1a® TH AT
e o | U ST BT GRT HIA H I® 400 DS,
600 s, 720 AbS AR 900 HHS BT FHI 7 |
YT B I1§ I ggell IR Y/IATA! f6g 9= fober
7y # fAer?
|
a) 4200 HHS b) 2400 Wee
c) 3600 THS d) 1800 TF
U34.  TAH UM WIHA AR BT IEd 3 2 6 ey B
qrE Yeh AT AT AT BT |
e b) 5.5
c) 3.6 d) 4
H3s. 5.62ﬁ"ﬂ'\'?~[f'?r=1%:
.y 06 4~
a) o> 17
9 b) 5~
6
9 ¥ d) 2L
36 = @ 4% qar < rfRe?
, 1
2) 95 b) 3
2 .
935 d) 2
937 36 @1 8% e W& @y 7204 20
a)3 b) 4
c)5 d) 6
938, e weRIRT 20 A H 7 R o
B F e I A mgla‘gmw
a)zsaﬂ b) 40 T§ @
c) 30 = d) s0 Ty |

5—\—/\_—\(



240.

J41.

)42,

Q44.

Q45.

Qae.

Ram is 5 times older than Shyam. He is also 2()
years older than him. Then present ages of Ran,
and Shyam respectively are:

a) 25 years, 5 years b) 36 years, 6 years

¢) 50 years, 5 years d) 20 years, 4 years

A Pythagorean triplet whose smallest no. is 5
is:
a)i511,15
¢) 59,12

b) 5,14,19
d) 5,12,13

A metallic solid cuboid of dimensions 36mx
18cm x 12c¢m is melted and recast in the form
of cubes of side 6 cm. Find the number of
cubes so formed.
a) 38

c) 34

b) 40
d) 36

The cost of pair of shoes at a shop was Rs. 650
and sales tax charged was 5%, then the

bill amount will be?
a) Rs. 680

¢) Rs. 470

b) Rs. 682.50
d) Rs 682.20

An aquarium is in the form of a cuboid whose
external measures are 70cm X 15cm X 20cm.
The base, side faces and back faces are to

be covered with coloured paper. The area

of paper needed is :
a) 5000 cm?
<) 4450 cm?

b) 4800 cm?
d) 4500 cm?

Which of the following numbers is divisible
by 37

a) 7865001
c) 7803541

b) 7803572
d) 7803593

The average of the first 43 natural numbers s:
a) 33 b) 44
c) 43 d) 22

Qut of the following fractions which one is not

smaller than 2 ?

7 ' 11
a) 9 b) 13
17
o o 4
Q47.  Simplify: (1500-275) . 55 = 7 + 300 = ?
a) 307 b) 345
¢) 355 d) 305
Q48.  yhat is the largest six-digit whole number?
l a) 998001 b) 999976
; c) 999856 d) 997649

2 ‘/V" P W

Y40

946.

Ua7z.

y48.

-
939.

Ya1.

J42.

U43.

H44.

Y45.

I, T 9 5 A &1 8| 98 3¢d 20 a4 a%
X | &y < iR varE @Y adard Y HHer adl v

b) 36 a4, 6 du

a) 25 a9, 5 94
d) 20 99, 4 ad

¢) 50 @, 5 ad

v e B s @ Breél G
5 &

a) 5,11,15
¢) 5,9,12

b) 5,14,19
d) 5,12,13

36m x 18cm x 12cm 3ITaTH Tl Ueh rfeaas S
G BT fAEETAT S 8§ SR 6 WA IO ATt e
@& &Y § gifed fear war 8| $9 ghN 94 g |
a) 38 b) 40 '
c) 34 d) 36

Ud GhIH OR Sl P SIS B ATTd %, 650 2ff
IR I R 5% AT AT o7 IR e &
R fha=n gref?
a) 680 %.

C) 470 5.

b) 68250 %.
d) 68220 %

Ud ABCl BR U 99 B BN BT 2 T
e A9 70cm X 15cm x 20cm ¥ | AR, T |
HAdh AR NS & BAD S TN Brre & o1
2| AILID BT BT &% fhar 7

a) 5000 cm?
c) 4450 cm?

b) 4800 cm*
d) 4500 cm?

frafeRaa & & ®f & w3 ¥ sy 20

a) 7865001
c) 7803541

b) 7803572
d) 7803593

YIH 43 U email &1 g &

c) 43 d) 22

Fetfete o @ w @ = %wmmg?
7

) 15 b) L
9
LEG G T8 (1500_275) +25+7 + 300 = ?
a) 307 b) 345
c) 355 d) 305
6 3BT ARy gy o< T T Ty 2
a) 99800 b) 999976
) 99985¢ d) 997649




s

R
,L/—’/_/T . 3 - H
M4, gfe [2°=1256¢F ar x T

T

)49, 1f /27 = 256, then what is the value of x? ’ ‘é |

a) 14 b) 16 a) 14 e

c) 18 d) 20 Y »

' g & @ o o & @ 200 SIT% 32C

050.  What is the greatest number which completely 950 T el a9 2 A

divides 200 and 320? a8 ave R ( »

a) 10 b) 20 2) 10 Tfore Bl o2

016 d) 40 e 7

————————

General Intelligence / srr=a gfegwar

Q51.  One day, during sunrise, Sudhir walks 6m in 551 v e, s & 9 R T BT @1 fa

the direction of his shadow, then turns to his ¥ 6 Hex FAT B, ﬁb_\’ oo T$ AR gl & IR
right and walks 4m. Finally, he turns to his 4 Mex Terar | ofd ¥, g8 IS AN FS 'E} 3ﬁ7.9
right and walks 9m. Find how far and in which Arex Ferar ¥ | S B B g7 3o IRES €Y
direction is he from his starting point? ¥ frah gx R fw Rem 4 87
a) 12m, North- West  b) 5m, North- East a) 12 A, SwR—ulR=¥™  b)s5 I, ITR—gd
¢) 6m, South- West d) 15m, South- East c) 6 A1, sferor—af¥=H d) 15 #, gfror—gd
Q52. A man said to a lady, “Your mother’s husbands | ¥52. U@ & 3 U HiEem & FE, “TE H B G
sister is my aunt” How is the lady related to the P g8 AN g B |7 AT BT g H FIT FEY
man? B?
a) Sister b) Mother a) 98+ b) &7
¢) Cousin d) Either (a) or (c) c) TERT d)ar ar (@) am (c)
Q53. Which of the following diagrams best depicts us3. fom=faRed d @ @9 &1 =7 ara, TaE! &6k 37 3
the relation among red, pink & Eo)lour? \ 19 d9Yy B J99 =) avg AT 87
am o 9
@93 am Oo| |
a) b) c) d) a) b) <) d) \
Q54. ;igou“rrer?nany cubes are unseen in the given W54, fRu e Rr= H RO v ergww ¥

)5 b6 0lo d) 15

V5 be )10 d) 15
Q55.  Select a figure from the set of answer figures uss, -
which would replace the question mark (?). E"f;‘qﬂau' ® VT | e ATHRY BT TTT PR Ty
Problem Figurs Pmblcmgg)ulim I & é-‘T“
2\ ?
) [ ]
Ab = A =[N |
narer Pinares ].% Answer Figures |




Q56

Q57.

Q58.

Q60.

One out of these four options resembles the
figure which is obtained by folding the
transparent sheet aloing the dotted line. Fing

the answer from these figures.
Question Figure

oF

§O)

a) b)

Select the correct mirror image of the given
figure when the mirror is placed to the right of
the figure.

g
<

a)

C) d)

&

d)

S|S0

Choose the figure which is different from the

Qs1.

others.
a) b) ) d)

In the following questions select the correct
option from the given alternatives.
DJ:HT::HM:?
a) PY

c) LW

b) JK
d) LP

If the digits in the given numbers are written in
decreasing order within the number, then how
many digits will not change their place?

8 3 2 4 5 7 1
a) None b) One
c) Two d) Three

5 years after, ratio of ages of A and B will

be 7:5 and difference between their ages will be
4 years. What are present ages (in years) of A
and B respectively?
a) 5,9

c)9,5

b) 6,5
d)9,6

156

Us7.

Us8.

"s59.

460.

u61.

g1 ar fagent #§ O TF IA AP |
N ot qreedlt ¥e B fAdeR @1 ¥ Asdy AT

i
AR

A o & | g BT A T G

I O HAd

Question Figure

();

@)

Answer Figures

a)" b) c) d)

& d snpfa @ wE gdvr wfa w1 AT B O
ador @) Mpfa & &g AR @ AT |

%

S| [ ]|S
a) b) c)

TE MPT I S gERI | &= =1

Sl

XX A

a) b) c) d)

mMﬁmWﬁmﬁﬁyﬁﬁm
BT T BN |
DJ:HT::HM:?
a) PY

c) Lw

b) JK
d) LP

MR D T e & B B @ B e e

P A e i .
. SITg |l HYAT R 9

8 3 2 4 5 7 1

a) B b) v®

) d) &=

5 T AT A ik B F I BT ST 7.5 @

Gﬁ?m%tﬁaﬁﬂﬁmlsmaﬁqm

MY B g oy oick 4 99 EFTTI A 3k B o9

Hﬁqﬁsrrg(admm:a?m%?

a)5,9 b)6,5

c)9,5 d)9, 6



63.

J64.

Q65.

Q66.

Q67.

Q68.

Q69.

4/-—"'7

Replace the question mark (?) with the suitable
option.

BDE DHL FLR ¢

a) HPX b) HPY

¢) HOX d) IQY

In the question given below, some words are
given in a jumbled up order. Arrange the words
in a systematic order, and then choose the
correct option from the given four options,
which shows the meaningful order of the
words.

1. Pupa 2. Membrane (Jhilli) 3. Larva 4. Egg
a)4,3,2,1 b)3,4,1,2

c)4,3,1,2 d)1,3,4,2

What number will come in place of the
question mark (?) in the following series?
15, 25, 45, 85, 165, ?
a) 315

c) 363

b) 325
d) none of these

What number will come in place of the
question mark (?) in the following series?
5,9,18, 34, 59,7
a) 94

c) 95

b) 93

d) 90

What option will come in place of the question
mark(?)?

ABC EFG JJK MNO QRS ?
a) VWX b) Uvw
c) STU d) TUV

In the question below four words are given. Out
of these four words, three words are similar

in some way or the other. Find out which one
of the following words is different from the
other four words.
a) badminton

c) cricket

b) table tennis
d) hockey

In the following question, select the odd word
from the given alternatives.

a) Crocodile b) Rat

c) Snake d) Lizard

In the following series replace the question
mark (?) with suitable option.
N,O,QTX,GC,?
a)l

c)l

b) H
d)L

62

U63.

ye4.

U65.

U66.

ve7.

V68,

H69,

a9 fog (?) @& wH W U fAden @
PV |

BDF DHL FLR 7
a) HPX b) HPY
c) HOX d) IQY

1 A0 T ye ¥ {Y e fy U 8 o P
sreraRerd @@ H &1 371 el &) aferd &
By 3o, dqen gwd drg Ay v aR sl A ¥
T fawe B g, o A= B AiE 59
&9y |

1wmr 2. f3ree 3. At 4. 37T
a)4,3,2,1 b)3,4,1,2
c)4,3,1,2 d)1,3,4,2

Pr=ferfRag R v si@en ® yv=aras e (7) &
R W AT G AT

15, 25, 45, 85, 165, ?
a) 315

c) 363

b) 325
d) ¥ & B¢ TE

frafalRed A 1T sieet d year=Es g (7) &
IH R I AT T TP

5,9,18, 34,59, ?
a) 94

c) 95

b) 93
d) 90

e g (?) @ | ) B A1 Resw mg?

ABC EFG UK MNO QRS ?
a) VWX b) UVW
¢) STU d) TUV

%_ﬁﬁ@wﬁmwm@%‘lﬁm
7l H W A wes e 7 ey gR @ e |

€1 S B 5 ¥ B A ue wwe, off o AR
Ul § e ¥ '

a) Jsfie

b) Taa 2f
c) fhpe )

d) gt

;fﬁmwﬁﬁmwﬁwﬁﬁammm

a) RS b)

€) d) fomarh
fFrafofRaa siae ¥ yeg

& w2l e () 71 S9I0 Ry
N,0,Q T, X, C,?

)1 b) H

)]

d)L




B _— - ' &1 'DCURI
' T Rifyga @S A9 H CRUDE' &1 DCU
Q70. In acertain code language CRUDE'is written | g70. % sar 2, @ 99 @re #§ ‘MOIST &4 I
as 'DCURE), then how will 'MOIST" be written fert ? ’
in that code? Skl
b) SMIOT
a) TSIOM b) SMIOT a) ot d; TOIMS
¢) SIOTM d) TOIMS ¢) SIOTM
Q71.  Arrange the words in the sequence in which a71 gl H1 g FH A Eb—% 7
they occur in dictionary and then choose the i oy & ol f wE w g |
correct sequence. .
1.Tune 2.Tone 3. Taste 4. Truth I.Tune  2.Tone 3. Taste 4. it
a)3,2,1,4 b) 3,2, 4,1 a)3,2,1,4 b)3,2,4,1
¢)3,1,4,2 d)1,2,3 .4 c)3,1,4,2 ) s 21 o4
Q72.  In the following question, a set of figures u72.  FrefaRaa ge weq 4 & @9y gorf are
carrying certain characters are given. Assuming Suferat &1 v W & mar 7| 7' 7 g8y %
that the characters in the set follows a similar yAF A # gof g FEE ded P IFER Hee 2
pattern, find the missing character. S AW § o qui wT gar A |
260 | 132 4=:||=b
20 | 36 | I
a) 12 b) 10 )9 d)8 a) 12 b) 10 )9 d)8
Q73.  Five girls took part in a race. Sonam finished 973.  US TS ¥ U" orefepal F w7 A | 9y S =
before Neha but after Pooja. Shivani finished d 9B Afhe Qon & a7 |arE o | R 3
before Anju but after Neha. Who won the race? IS W UEA AP e B IT FAw AT =re
s so - fas Sheh?
2) Sonam 00ja EIIGE: ]
\ <) Neha d) Shivani :; TeT 3)) é%
Q74. If'x'means’-', '+ 'means'+', '+ means' x' afg ' x' Br et R + g
then 18x5+5+6 is equal to - et : ga ISXSE’S;GHZW:? %‘+ s
a) 58 b) 49 a) 58 b) 49
c)43 d) 37 c) 43 d) 37
Q75.  Ram is taller than Mohan and Sohan, while M, AET IR HIET F &9 2 w6ty wey
Sohan is taller than Shyam. Also, Mohan js e w91 21 9T @), \igq, |9 @r 91 2 ﬁ‘;f;—'gaﬁ
taller than Sohan. Who amongst the following ¥ g PF " wler 27
is the shortest?
a) Shyam b) Mohan a) ¥ b) wre=
c) Ram d) Sohan c) ¥ d) |rg+
- General English

Directions: (Q76-77): Select the option which best expresses the same sentence in direct/indirect speech.

Q7.

after the famiy,

He said, "Garima waps o take up a job while her husband wants her tq Jook after the tamily”
a) He said to Garim, that though she wanted to take up a job while her husband wanted her to look

b) He said that Garin, wants to take up a job while her husband Wwanted her to look after the fappj]

¢) He tol.d that Garima wanted to take up a job while her husband Wants her to look after the f. ﬂ}:.

d) He said that Garima wanted to take up a job while her husband wanted her to look after thea;n )ii)
. amuy.

10

\_——\‘ B

|
|
[
|
|

{



w“—"m—%_mm‘_ e e———

§ 1« ; 1t afraid of ghosts”
Q77 'Shg}s;ald,. d\:,hh;r;}h::ss;:}x:: :;,ailsd she wasn’,t not afrzfid of ghosts.
g)) Sh: Ssz':id that when she was a child she hadn't be‘c‘n ’*‘f;r afd (’f ghosts.
¢) She said that when she had been a child she ,wa;n l i‘” f“d of ghosts.
d) She said that when she was a child she wasntairaid of ghosts,

Directions: (Q78 to 80): Select the one which best expresses the same sentence in passive/active voice,

Q78. The walls had not been decorated by us. .
a) We have he not been decorating the walls. b) We had not been decorating the walls.
¢) We had not decorated the walls. d) We have not decorated the walls.

Q79.  'We must endure what we cannot cure.
a) What we cure must be endured. b) What cannot cured must endured.
¢) What cannot be cured must be endured. d) What could be cure must be endured.

e e e

Q80. A fresh batch of eggs was collected by the farmer’s wife.
a) The farmer’s wife was collecting a fresh batch of eggs.
b) The farmer’s wife had collected a fresh batch of eggs.
c) The farmer’s wife collected a fresh batch of eggs.
d) The farmer’s wife will be collecting a fresh batch of eggs.

Directions: (Q81 to 83): Choose the word nearest to the meaning of the given words.

Q81. Accomplish

a) None of these b) compel ~ ¢)bound d) attain
Q82. Blemish N

a) stain b) breakable ¢) bright d) Non of these
Q83. Convert

a) change b) delicate ¢) comfort d) None of these
Directions: (Q84-85): Select the word/ phrase which is close

st to the opposite in meaning of the bold word or
phrase.

Q84. The minister was accused of indulging in nepotism,

a) hatred b) impartiality ¢) condemnation d) indifference.

Q85. The judge thought that the offence was deliberate.
a) negligible b) unintentional ¢) casual d) legitimate
Directions: (Q86-87): Choose the alternative that best expresses the meaning of the expression.

Q86. Go hot & cold . o ~ |
a) sudden feeling of fear and anxiety b) get irritated ¢) get out of cold d) get angry

Q87. Small talk ' o
a) back biting b) gossip c) light convyersation ~d) whispering

Directions: (Q88-89): Choose the word which can be substituted for the given wor ds/ sentences.

g8. The practise of having many Wives, |
? a) Polygamy b) Caulgraphy c) Bigamy d) Polyandry

Y/IC ¢ £



| Q89. The Mahabharata is a long poem based on a noble thlt‘m'”" d) Story
a) Summary b) Narration ¢) Epic

- . N ~ questions.
Directions: (Q90-94) : Read the following passage and answer the qu¢
. .« <at bv the side of the road. There was a
An old man with steel rimmed spectacles and very dusty clothe h-mltdb)» were crossing it. The mule-drawn
pontoon bridge across the river and carts, trucks and men, women .?nd chi r(l‘“ ainst the spokes of the wheels.
carts staggered up the steep bank from the bridge with soldiers helping to PUT ;1g¢ i‘n the ankle deep dust. But
The trucks ground up and away heading out of it all and the peasants plodded along
the old man sat there without moving. He was too tired to go any farther. .
. . at point the enemy had
It was my business to cross the bridge, explore the bridgehead beyond and find out to what p y

. P > v eoDle y .
advanced. I did this and returned over the bridge. There were not so many carts now and very tew people on foot,
but the old man was still there.

“Where do you come from?” I asked him. .
“From San Carlos,” he said, and smiled.

That was his native town and so it gave him pleasure to mention it and he smiled.
“1 was taking care of animals,” he explained. “Oh’, I said, not quite understanding.
“Yes.” he said .“] stayed, you see, taking care of animals. I was the last one to leave the town of San Carlos.”

He did not look like a shepherd nor a herdsman and I looked at his black dusty clothes and his gray dusty face and
. his steel rimmed spectacles and said, “What animals were they?”

“Various animals” he said, and shook his head, “I had to leave them” I was watching the bridge and the African

looking country of the Ebro Delta wondering how long now it would be before we would see the enemy.
“What animals were they?” I asked.

- "There were three animals altogether,” he explained. “There were two goats and a cat and then there were four

| pairs of pigeons.”
|
f

i

| “And you had to leave them?” I asked.
| "Yes, because of the artillery. The captain told me to go because of the artillery”

| “And you have no family?” I asked, watching the far end of the bridge where a few last carts were hurrying down
the slope of the bank. "No," he said, “only the animals I stated. The cat, of course,

will be all right. A cat can look '
out for it-self, but 1 cannot think what will become of the pthers”
. “What politics have you?” | asked.

| "1 am without politics]” he said. "I am sev

enty-si i 3 & ink '
| com oo o Pl ty-six years old. | have come twelve kilometers now and I think now |
| “This is not a good place to stop” [ sajd “ it f .
| Tortasss P I said. “If you can maje it, there are trucks up the road where it forks for

“I will wait a while” he said, “and then | w;i » ’i
“Towards Barcelona;” I told him. will go. Where do the trucks go?

Q90.  Where was the old man comin

f)
a) San Carlos = oms

b) Ebro Delta

¢) Tortosa d) Barcelona
QS91.  What was the narrator’s duty?
a) to see that all the people ¢
ple crossed the by :
find | » Fidge . :
b) to h;‘] ;);]Jt how close to the bridgeheaq tﬁ: safely P |
¢)to lp © €AI1S pass the bridge by pygp; - <0< heels /
d) to help the people ()imp the steep bany Or;gtlzhﬂ'r w; eels
e rive
Q92.  Of the animals th
D he cat at the old man had left behing who could take care of itselt / themselveg?
b) the goat ¢) none the Pigeon
Q93.  The old maf‘; Satby the side of the road beca
a) he wanted to Survey the scene. - b) he was wajyjng for the trucks,
c) he was waiting fo, ;¢ family. d) he was tg tlirﬁd to walk furthe.

!
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()94.  The old man was worried about : .
a) the safety of his animals. ) reaching a safe place. |
c) leaving his native place. d) the consequences of the war

Directions: (Q95-97): Select the most suitable alternative to fill in the blanks.

Q5. The government is confident that the standard of living wil] begin to again soon.
a) rise b) lift ¢) flourish d) revive

Q96. If you drink too much, it will your judgement.

a) impede b) impel ¢) impose d) impair
Q97.  The punch made the boxer _ with pain.
a) grumble b) gap C) wince d) fumblc

Directions: (Q 98-100): Fill in the blanks with suitable prepositions.

Q98. The officials have the habit of fawning_  ministers.
a) above b) on c) at d) none of these
Q99.  In the long run, drinking proved fatal both his reputation & health.
a) for b) none of these c) of d) to
Q100. The rich are not inured manual labour.
a) of b) on c) none of these d) to
wa fa=d
U76 TMET BT IoFH wU B—
a) el b) e+ C) ey d) s
977 BT ¥ AT BT qaiaare) T8 27
a) 9d b) afa ) e d) g7
g78. IHAT & fou uhigarh wes T8 -
a) | b) wiferdy C) SEr d) sgar
79 T # fAdm wem -
a) g b) urey ¢) gaa d) g«
ggo O/ f&f & e = @1
a) ¥R b) fersy c) it d) sy
Us1 BT U w1 GfeerT 87
a) @ " b) wem ¢) Srsar d) garur
we2 TR v @7 qgaem @ B |
a) et b) fafsay c) FerfSan d) fafe
u83. SR U FHei B HROT g 2
a) T b) G ¢) @ d) farera
REY H qag o7 < & :
a) 7 =) R Ty o b) ar forr @ fAaT€ ¥ I gy

c) 4l 93 defra wiw B d) 7 qu wde T E : e




Y1 (W85—89): e Rerr e 9 o A,

T TD e wra ® 5 @ gfon @ Nt @ (857 B & BRO FATTE I, ATG AT
I WrHfrw @6)Q TN DY GIW R, Moy e a5 & 0 S g b wer g @ o

e BT 30T R | W A sreraven i et wEy ® g A g @ hart A wfent @ arpaa g g
TS R A ¥ af fe ol WD s Pryesy @ forg ®Y§ oravern w1 &) 550 werH o amr e
AT ST W T8 R, R 88 T ey | g BYE wRw AE 6 AR @B wwen seeen 9 od
R = Tm N 3 & R s gfvn A

QIEN=-Feqres yoyp @ 0 T B o) I ;A@m F
uss a) ATy b) qatma ¢) IR d) sy
u86  a) U b) wuzy C) YR d) derar
7. a) WY b) Tatawm C) AT d) zrazr
"8  a) |WnEEH b) arfiR c) gel d) e#
u89.  a) IuRTal b) |wan ) erwer d) Frerar
w0 A R e ww wtw @ S wE o @

a) RIS armwer b) @ TN c) Afersh d) araefr
91,  T=RY B e | T oafy -

a) T b) =gy c) Hodaray d) drere
¥92.  YE TN BT TIF oY —

a) TEdEES b) afeierer c) Tedfrerers d) TEraereTs
mWe3. HY P wWmm 27

a) WHEATES HE b) Sferaras wsn c) =fRmaras s

d) zeraras weyy
gg4. H IUA BHUR WG o o FE GEAH FT IaTewyy 27
a) fAmaras b) yevara® c) FAeergarass d) <aErares
u95 frafofan & & fow area 3 sda fpar 87
a) 9 a%9 @ B | b) # N frwaran &) ¢) v Py foraar @

S—_—
yoe. HEATAEE faver @ e dqq &7

a) =R b) df= c) ¥ d) @y
997, mwﬁma%wﬁqmmm—aﬁﬁa%aﬁﬁm%,ﬁmmmg?

a) fAfradaras b) Sfearas—fFar fygrge ¢) URATTATEgs ey faor d) w4
wos  ‘grafd @1 we-fawse grm-

a) § + 3mafa b) g + aifa c) &a + 3rafy d) ¥ W B oy
Yoy argaTe ¥ UYH Sugd 8-

a) b) 3= c) d) arq
Y100 g W B egiarg T A6 87

a) STATAIE b) @wraf c) AT
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